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MATH 45 — PRACTICE PROBLEMS MOTION AND MIXTURE

1. Granville and Preston are 535 miles apart. A car leaves Preston bound for Granville at 47 mph. At the
same time, another car leaves for Granville bound for Preston at 60 mph. How long will it take them to meet?
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2. Two boats leave port at the same time, one heading north at 35 knots (nautical miles per hour) and the
other south at 47 knots. How long will it take them to be 738 nautical miles apart?
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3. Two crooks rob a bank and flee to the east at 66 mph. In 30 minutes, the police follow them in a
helicopter, flying at 132 mph. How long will it take for the police to overtake the robbers?
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4. Paint costing $19 per gallon is to be mixed with 5 gallons of paint thinner costing $3 per gallon to
make a paint that can be sold for $14 per gallon. How much paint will be produced?
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5. A photographer wishes to mix 2 liters of a 5% acetic acid solution with a 10% solution to geta 7%
solution. How many liters of 10% solution must be added?
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6. Twenty pounds of lemon drops are to be mixed with cherry chews to make a mixture that will sell for
$1.80 per pound. Lemon drops cost $1.70 per pound, and cherry chews are $2.00 per pound. How much of
the more expensive candy should be used?
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